ASTORIA

ASSEMBLY INSTRUCTIONS

CASHWRAP & CONSULT TABLE :: 257-CW

GRAND + BENEDICTS

503.232.1988 | grand-benedicts.com

PAGE 1 of 3




ASTORIA CASHWRAP & CONSULT TABLE :: 257-CW

PART LIST:

1X. TABLE TOP 1X. CENTER FRAME 1X. LEFT FRAME 1X-RIGHT FRAME

5 %

8X. SBHC SCREW 3/8"-16 X 0.75" 8X. SBHC SCREW 1/4"-20 X 0.625" 1X. L-KEY FOR 3/8"-16 1X. L-KEY FOR 1/4"-20

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 2 of 3




ASTORIA CASHWRAP & CONSULT TABLE :: 257-CW

STEP 1: STEP 2:

LEFT FRAME

TO INSTALL, SLIDE
UP AND THEN DOWN
INTO FRAME CORNERS

RIGHT FRAME

CENTER FRAME

OPTIONAL PANELS
SBHC SCREW 3/8"-16 X 0.75"

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 3 of 3




ASTORIA CASHWRAP & CONSULT TABLE :: 257-CW

STEP 3:

TABLE TOP

SBHC SCREW 1/4"-20 X 0.625"

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 3 of 3




